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1) Match each sequence to the correct counting step.

B

2 1 2 1
3%2,3%,3,2%,2%

1 2 3 4

Decreasing by % Increasing by 75 Increasing by & Decreasing by &

Complete the sequences.

o 13, 3,33, 4

? 6%'5%'5%,D,D
,51_10'5%,D’D

Charli is counting in steps of 3.

My sequence cannot include
a mixed number containing 3.

Charli is incorrect.

Prove it by writing a sequence that includes a mixed number containing 4.

Can you identify and correct the mistakes in these sequences?
a) 2%,3,32, 4%, 5%

2 1 1
b) 82,8,74, 61,6

c) 4%,5%,6%,7
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1) Ryan has created a sequence. Within the sequence, there are mixed numbers containing % and £.
However, the sequence is not increasing or decreasing in steps of +. What could the sequence look like?
Give 3 examples.

2) Here are the first and last numbers in a sequence.

!
7

What could the counting step be and what could the sequence look like? Give 3 possible sequences.





